Pls
SERVICE MANUAL

IFRONT PANEL

HREAR PANEL
US & CANADIAN MODELS

ECONTENTS

SPECIFICATIONS .ottt ittt it et e iiaiae s iaaaaaanaeeaeneeananeanannnns
BLOCK DIAGRAM ..........
CHECKS AND ADJUSTMENTS . .
WIRING ..................
SCHEMATIC DIAGRAM . . oottt ittt ittt it it anie et iia e aaa e iaaaaeeeanennanaans

YAMAHA

006478 NIPPON GAKKI CO., LTD. HAMAMATSU, JAPAN

2.5K A @ Printed in Japan 9.81

SINCE 1887




PG1

B SPECIFICATIONS

INPUT

INPUT jack: —20dB
RETURN INPUT jack: —20dB

CONTROLS
{front panel)

[A channel] VOLUME (pull FAT),
TREBLE (pull BRIGHT), MIDDLE,

OUTPUT OUTPUT jack (front panel): 0dB/10k$2 BASS
OUTPUT jack (rear panel): 0dB/10k2 [B channel] GAIN (pull FAT),
PHONES OUTPUT: —8dB/8Q MASTER VOL., TREBLE (pull
SEND OUTPUT jack: 0dB/10k2." BRIGHT), MIDDLE, BASS, (P.EQ.)
BALANCED OUTPUT jack XLR-3-32: LEVEL, Q, FREQUENCY, EQ
0dB/600Q2 . LEVEL, REVERB, PHONES
GAIN 36dB (input to,  output at, 1kHz) Ach ‘LEVEL; A/BSW, A A/B B SW,
56dB (input to output at 1kHz) Bch » LPF-P:EQ, HPF SW., POWER SW.
54dB (input to send output at 1kHz) Ach (rear panel) RETURN LEVEL, SEND LEVEL,
56dB (input to balanced output at 1kHz) BALANCED LEVEL, GROUND
Ach (1ift) SW;, GROUND {polirity)'sW.
15dB (return input to output) REVERB Accutronics Spring-type 1EB2C1B
NOISE Less than —75dB (all volume controls at Min.) FOOT SW.JACK  (Ach/Bch, EQ ON/OFF’
Ach N T 3 REVERB ON/OFF)
Less than —77dB (all volume controls at Min.) ACCESSORIES FOOT Sw.
Bch POWER US & Canadian Models
Less than —67dB (VOLUME, TREBLE, REQUIREMENTS 120V, 60Hz
MIDDLE, BASS at Max.) Ach General Model
Less than —49dB (GAIN, MASTER VOL, 110-120V/220-240V, 50/60Hz ..
TREBLE, MIDDLE, BASS at Max.) Bch POWER US & Canadian Models ~ 10W
EQ. (P.EQ.) LEVEL control: £15dB CONSUMPTION  General Model 15W
Q-control: 0.36.>:3.0 - DIMENSIONS 18-3/4"x2-1/8"x12-3/4"
FREQUENCY control 100 ~ 5kHz (W x H x D) (480x54x325mm)
EQ. LEVEL control +15dB WEIGHT 12.6 Ibs (5 7 kg)

*0dB is referenced to 0.775V

A
enscred we s S ockave it @12.47ktHz
Specifications subject to change without notice.

HBLOCK DIAGRAM

PULL BRIGHT
TREBLE
MDDLE!
Bass

neuT PULL BRIGHT

R

oo
L sass

PULL FAT

1 T

puLk EAT L{

LeveL

v s

RETURN
INPUT

uvi_-c{;v: 3 ;/Eva_

Ve ) -

FooT
SwiToH

e aureuT
WoLove 0 e
oureuT
PP It R
>+ ¥
| 1 a 2, BALANCED
be T
SR
N7
Lever
—{—{>—wu PHONES
. oy QYT




I CHECKS AND ADJUSTMENTS

I. ADJUSTMENTS

® Power supply Voltage Check
Verify that each of the following ranges is within
the specification given.

Between +15and E
Between —15 and E
Between +7and E
Between —7 and E

® Foot Switch Circuit Adjustment
1. Reference Voltage Adjustment

Plug and open plug into the FOOT SW jack and

adjust the B10K trimpot so that the voltage

between the hot side of the plug and the E terminal

is +10V £ 0.1V,

*This adjusts the open-circuit voltage of the foot
switch, Use a standard phone plug with nothing
connected to it and the sleeve removed.

PG1

pen plug
(Standard plug with sleeve removed)
Hot side

Ground side

2. Voltage Adjustment (At maximum load)
Set the A/B switch for the Ch. A mode. With
nothing plugged into the FOOT SW jack, set the
B5K trimpot so that the voltage between the points
FCand ~7is +10.8V £ 0.1V. :

3. Voltage Adjustment (At minimum load)
With the open plug inserted into the FOOT SW jack,
adjust the B50K trimpot for a voltage of 0.35V
0.05V between the points FC and —7.

4, Repeat adjustments 2 and 3 two or three times
until specifications are achieved.

BSOk 113 1cs  I¢7

FI0BVEOV
+0.35V+ 0,05V

IEIEIEIEIRIENE
gl gL gl gl sLIEEL] gl 2
3 B B8 °Tad g 9
s E = g E =

E
/ Open plug

+10.0V 0.1V

TRI

[PG. C. BOARD]

PEQ LEVEL

034 033,




PG1

1. CHECKS —

® The checks and ifications given are for referer
and it may not be a requirement to check all controls
in this manner.

® Use an oscillator with an input impedance of less than
1kQ.

® Use an oscilloscope and AC/dB meter with an input
impedance of over 100kS2.

® Set each control and switches according to Table 1.

(FRONT PANEL) {REAR PANEL)

A/B Push Switch Ach (ll) MODE RETURN LEVEL max.

Ach SEND LEVEL max.
VOLUME max. BAL OUTPUT
PULL FAT OFF LEVEL max.
TREBLE max, GROUND min. amount of noise
PULL BRIGHT OFF
MIDDLE max, .
BASS max.

Bch
GAIN max.
PULL FAT OFF
MASTER VOL. max.
TREBLE max.
PULL BRIGHT OFF
MIDDLE max.
BASS max.

A/B Slide Switch A/B

LPF PEQ HPF Slide Switch PEQ

PARAMETRIC EQ
LEVEL center (0)
Q min. (7N
FREQUENCY min, (100}

EQ LEVEL center (0)

REVERB min:

PHONES - max.

® Perform measurement with the following load
resistance connected to each output connector.
Table 2
B :
(FRONT PANEL) {REAR PANEL)
OUTPUT 10k OUTPUT 10k
PHONES L, R each 8Q SEND OUTPUT 10k
BAL OUTPUT 6005 (between pins
2and 3)




PARTS LIST

PG1

= CONTENTS

EXPLODED VIEW .
PARTS LIST
EXPLODED VIEW (FOOT SWITCH) . .
PARTS LIST

[ TN NI

PARTS LIST (ELECTRONIC) ....

J:
u:
C:
G

Japanese model
U.S. model
Canadian model
: General model

SINCE 1887

YAMAHA

NIPPON GAKKI CO., LTD. HAMAMATSU, JAPAN

2.5K 3@ Printed in. Japan 9.81
006478



PG1

HEXPLODED VIEW




' EEE RN

* E m R

HPARTS LIST

PG1

:z’ Part No. Description # & % Remarks | Commen| warkets ::f Description 5 & = Romarks | Cmmon | parcots
1| AAI81779:40| Front Panel EAL AR R 40 Toggle Switch PN RA Y F c
2 | AA:B1:79:50| Rear Panel YT s x J 41 Spark ion Cap. 0.01uF 250V AN -0 %5 — G
" _|AAB17960| " uc 42 Slide Switch AFAKRAL Y F G
»_|aaisi7gi70] " G 43 Stopper x b v S = G
3 Side Panel (Left) YA KRN E) 44 Ceramic Cap. 001uF125V | 5 3 ¥ Juc
4_|AA;i81i79/90; “___(Right) " (H) 45 " 0.0033uF AC125V| " JUC
5 | AA8180.00] Center Stay vy 5 - 27— 46 Cannon Connector XLR3:32 Fr/raxs s
6 | AA!81:78/00| Rear Stabilizer YTAIETAY 47 Oval Head Tapping Screw M3x8 FNM3-3g (RIS ¥ ¥ F 4>
7_|EC134/00:80 Truss Screw M4xBFCM3BL |+ 5 R 4 & 48 Ground Lug 3 7 - % 5 7
8 Bind Screw M4 x 8 ZMC2-B¢ |+S 4 > F /v % & 49 i30:30| Toothed Lock Washer A3SZMC2-Be (# f  E  &

Toothed Lock Washer A4S ZMC2BR |8 it B & 50 30; 0| Toggle Switch PO ALy F
Mount Angle oYy HlEaR 51 Hexagonal Nut M3 ZMC2Y (A A+ 3
Flat Head Screw M3x8 ZMC2Be |m 4 * o 52 Reverb Unit L 3
Power Switch Plate £89=24 FRAER 53 Rubber Bush k7 v
Switch Escutcheon 2 yFEANY Y2 P81 54 Slide Switch X554 FRA v 7
Push Button Black Ty ARy - 55 Top Cover by T A8 -
Bind Screw M3x6 ZMC2-B |,5 4 > F v % & 56 Bottom Cover RN
PG C. Board #87302 P G ¥ =} J 57 | £B:33:00i60| Flat Head Screw M3xg ZMC2-B¢ |M A &
" #87302 L) uce 58 | EV:42/30:30| Toothed Lock Washer B3s zMCc2-BY |# i B
- #87302 " G 59 |C8:80112:70] Leg El =
Switch Plate A/B Switch A4y FRHEA 60| EVi20130:40] Flat Washer 4¢ ZMC2-BR F [
Push Switch [7vvazqav7 J 61 | ED34101:00| Bind Screw MAx10ZMC2:B2 | < 4 > F 4 #
” [ n uc 62 Power Supply Cord ® ® 31 - J
- " G B @ " uc
Knob_(Yellow) v = e PB1 “ | MGi0011050) O G
__(Red) PARAMETRIC EQ " () ” 63 | EZ{30i70:10] Hexagonal Nut 7¢ FCM3-B¢ BHRABF VT
“ (Yellow) " (%) ” 64 | Ei 330080 Bind Tapping Screw 3x8 ZMC2-B | /M¥FFyEX I3
Sub Panel (VOLUME) Vo FaSAn 65 | CB109/52i60| Capacitor Cover AYF o H - 3UC
Toothed Lock Washer A7S ZMC2BY (@ B & | cB 08i19140! B " G
Spacer 9 2% - = 67 | LB 16024140| Connector Housing 7" EER R
- 7S " 68 | LB :6024i80, . 8P "
Hexagonal Nut 95 HHART b 69 | LB 5002:40] 5P "
Flat Washer 95 % B F B & 70 | BB:004430| Contact Pin EEERE R
28 | iF ;00113}10| LED L E [ PB1 71 | LB.1000140] Pin Plug ¥ v 7 5 7
29 2, Power Transformer TE L5 > 2 [
- g " © Juc
" [Gaig271/00] " " e

30 | ED:33/00180| Bind Sorew WM3x8 ZMC2BL | 4 ¥ F i & U

31 | EVi3030:30| Spring Lock Washer 3 ZMC2B |5 & m &

32 | EV:2030:30] Flat Washer 3p ZMC2B¢ % = ry

33 | EAi32:00:40] Pan Head Screw M2x4 ZMC2BL |+ ~ A 3 U

34| LB120012:10| Fuse Holder ta-XENF— JU.C
| LBi20014770] - " G

35 | KBi00i03:10| Fuse 250V 0.5A e a2 - X J
» |kBiooit0ito] UL 250V 0.5A " uc
* |xBiooi7i10| 250V T500mA u G

36 |ED Bind Screw M4x6 ZMC2BR |5 4 ¥ F v & &

37 |EV:303040] Spring Lock Washer 49 ZMC2BY | * B &

38 |LA0002:90] Ground Lug 40 7 x5 7

39 | LB:30{05:60| AC Socket 3P 4 ¥ v v b Juc
“|LBi20i18i60] 2P " G

40 [KA}30i04i40[ Toggle Switch FONRA YT J
©[KAI3003550 B " U

# New Parts (#1085&)

% New Parts (#15&)




PG1

HMEXPLODED VIEW (FOOT SWITCH)

PG1

HPARTS LIST(ELECTRONIC)

z:" Part No. Description B & & Remarks |Com™aN | Markets
¢ PG C. Board # 87302 P G v — J
* " # 87302 " uc
® " # 87302 " G
ic Cap. (BP) 22uF 16V B P4 a3
- 47uF 16V »
B 0.47uF 50V "
- 1uF 25V "
2.24F 25V "
- 4.7uF 25V "
- 104F 25V "
47uF 50V n
- 220uF 25V "
Metal Oxide Film Resistor 1P 1002 BlaBABER
- 1P 68002 ,/
Metal Film Resistor 3300 s B BB EH®
- ke "
B 75k "
- 150k u
Transistor 2SA999 (E,F) [ A a4
" 258560 "
- 25B596 (0,Y) "
- 25C2320 (E,F) "
" 25D438 "
25D526 (0,Y) "
FET 25K30A (GR) | F E T
Diode 152473 ¥ 4 A - ¥
Zener Diode Wo3B ViF—F4E-F
- WZ075 W
- w2130 u
Wz162 "
Heat Sink e # #
Bind Screw M3XBZMC2Y [/ 4 > F % o
Flange Nut M3 ZMC2Y  [7 5 > o F v b
ic NJM2901 I c
g NJM4556 "
- NJM4558 "
MPARTS LIST - Toi066p ”
NJM2903 u
Relay ] v -
® i i CEE PB1
zi‘ Part No, Description s & & Remarks |Co™™mo | Markets - Vorebl Ressor 16 2;:29 LA ? LA 3
1 [AAi8181780] Foot Switch Top Cover 79 FSWhy = » B g A25ka " -
2 |AA81181:90| Foot Switch Bottom Cover 7 b SWA b adsS— * - - AZ5kQ SW "
3 [KA'90/00:10| Push Switch Ty az4vF #* - - ) B P81
4[N 40] FS C. Board F s v — ¢ # - " B25kO. "
5 LED L 3 ) # - " C50kD2 x 2 W P81
6 Hexagonal Nut 9s BHRARF v b # ” GB0Kka CC,CT u B
7 Flat Washer 9s B BT B % ixed Variable Resistor B5KS) * E & 7
8 Spacer 95 2~ - 3 — B Bi0kn "
9 Bind Screw M4x6 ZMC2-BR [+3 1 > F v # g 1B50ka "
10 Bind Tapping Screw M3.5x8 ZMC2-BY 34> Koy K y4s # Push Switch Ty v arR4vF
1 Tapping Support FyEYIHE—} Fuse 0.5A 250V E a2 - 0z 4
2 Bottom Mat E & v v cP10 KBioof0f0] UL 500mA 250V /, u.c

# New Parts (#79288)




PG1 PG1

] dB AL. OUTPUT | | +5dB
Table 1 INPUT  [—60dB QUTPUT —24dB *3dB Output should INPUT | @ 1kHz (between pins 2
@ IkHz (FRONT, disappear when a and 3) Between XLR1and 3 | —1dB £ 3dB
REAR) shorting plug is ort
plugged into GROUND lift switch ON
RETURN. 12 |NOISE Table 1 Nothing OUTPUT Less than —67dB | Measure after
1-2| Frequency Table 1 INPUT —60dB OUTPUT With 1kHz output | Should be with- level Plugged (FRONT, passing through
response ©®20Hz~20kHz| 3 2 standard (0B)  in £3d8 of the into IN- REAR) @12. 47kHz,—6dB/
Z1d @mm curve in fig. 1. PUT or SEND Less than —46dB__|oct filter
i RETURN [PHONES | [ess than —60d5 |
8 aooms INPUT
1548 £ 3dB@7KH4] jacks. BAL OUT Tess than —4608
1-3] Tone control | Table 1 INPUT | —60dB ouTPUT Turning each knob from | Varies over the 13 |FOOTSW |Table 1 INPUT — [—60dB OouTPUT Turn A/B footswitch ON [Should change
response max. to min. following range. @ 1kHz and OFF. betweon channels
+18d8 £ 3dB .
%—— LTDE'SE 295 305 PEQ LEVEL max. PEQ effect should
[@400Hz | * Trn EQ footswitch ON|turn ON and OFF.
@70Hz BASS +13dB £ 3dB and
1-4 | FAT Table 1 INPUT | ~60dB OUTPUT Set the FAT switch Cevel vartation EQ LEVELmax Output level should
response @ 400Hz from OFF to ON (Pull). | range. Turo £Q footswitch ON  (vry about 1.
+9dB £ 348 and
1-5 | BRIGHT Table 1 INPUT —60dB OUTPUT Set the BRIGHT switch Level variation REVERE max. The echoed signal |Note that
response VOLUME @ 7kHz from OFF to ON(Pull). | range. Turn REVERB footswitchfturns ON and OFF. |unechoed signa i
- center +13dB * 3dB ON and also mixed in. | —
2 PREAMP, {(Bch)
2-1] Gain Table 1 INPUT | —60dB OUTPUT —4dB £3dB
AlB push @ 1kHz (FRONT,
switch REAR) ¢ PEQ RESPONSE Table 3 ® LPF RESPONSE Table 4
Bch (sm)Mode| i s
2-2 | Frequency | Tabie 1 INPUT | —60dB OUTPUT With 1kHz output | Should be with-
response AJB push ®20Hz~20kHz! as a standard (0dB) in + 3dB of the Lo |
—1dB + 3dB@70Hz| curve in fig. 1. min. 100 650 72 min. 100 EY 82
Beh it —8dB+3dB in 5K 650 712
@400Hz - = max, 100 *90 +10%2
+3dB * 3dB@7kHz, max. 5K 650 Less than £ 1
2-3| Tone control | Table 1 INPUT —60dB OUTPUT Turning each knob from | Varies over the max, 100 650 Less than £ 1 max, 5K *5k +8+2
response A/B push max, to min, following range. 700 ) T15%2
switch @ 7kHz TREBLE +16dB * 3dB max. — o min. 5K 5k —11%2
Beh (m=IMode) [@a00m: | MIDDLE +4dB £ 3dB max. 5K "5k £15£2 T -
[@70hz | BASS +120B £ 3d8 “1t is sufficient that the variation range as shown above can be It is sufficient that the output level as shown above can be sarisfied
2-4 | FAT Table 1 INPUT | —60dB OUTPUT Set the FAT switch from | Level variation satisfied even when the input frequency is varied between * 10% even when the input frequency s varied between  10% from its rat-
response A/B push @ 400Hz OFF to ON(Pull). range. from its rating frequency. ing frequency.
switch +908'+ 3dB
Bch (mmMode!
2-5 |BRIGHT | Table 1 INPUT | —60dB oUTPUT Set the BRIGHT switch | Level variation ’ o HPF RESPONSE Teble S ® A/BLEVEL Table &
response A/Bpush @ 7kHz from OFF to ON(Pulf). | range. I
switch +11dB * 3dB
Bch (mm)Mode| t
GAIN center min. 100 % —9t2 A £
3 [SENDamp. | Table 1 INPUT | —g0dB SEND —6dB +3dB B A/B +9%3
@ 1kHz OUTPUT max. 100 90 +10£2 B A ~6%3
4 |RETURN Table 1 RETURN | —16dB OUTPUT 0dB *3dB A A —11£3
amp. INPUT | @ TkHz max. 5K 5k +8%2 A 5 T
5 |PEQ Table 1 RETURN | Table 3 each |OUTPUT With controls set as in Level variation - T —26%3 i
INPUT | frequency fig. 3, vary LEVEL from | range obtained as min. 5K 5k —10%2 B B +9%3
ma in. listed in Table 3. - -
R Tabie T RETURN | —15d8 SUTRUT Table 4 Output level * It is sufficient that the output level as shown above can be satisfied
LPF PEQ INPUT | @ 9oHz, obtained as listed even when the input frequency is varied between  10% from its rat- ® FREQUENCY RESPONSE Fig. 1
HPF slide @ 5kHz in Table 4. ing frequency.
switch LPF I T T
7 [H.P.F Table 1 RETURN | —15dB OUTPUT Table & Output level [ 1
LPEPEQ  |INPUT | @90Hz, obtained as listed I
HPF slide @ BkHz, in Table 5. <
switch HPF k oS
8 |AA/BB Table 1 INPUT | —60dB OUTPUT Table 6 Output level R
level PEO LEVEL @ 90Hz obtained as listed H Q
in Table 6. E N
9 |EQLEVEL Table RETURN | —15dB OUTPUT Vary EQ LEVEL from | Level variation £,
INPUT | @ 1kHz max. to min. range. 3
+15dB * 2dB
10 [PHONES | Table 1 RETURN | —15d8 PHONES —8dB £3dB
amp. INPUT | @ 1kHz T
11 |
[l L il [

FReaUENCY(kE)




PG1

HWIRING

J: JAPANESE MODEL  C:CANADIAN MODEL

U USA MODEL R GENERAL MODEL
ouTPuT BALANCEDGROUND BALANCED SEND  SEND RETURN RETURN
OUTPUT (Lift) LEVEL OUTPUT LEVEL  INPUT LEVEL | GROUND GENERAL MODEL
8] VOLTAGE SELECTOR
5 vec)
9 Y lsnin ="
6 A IwH [GR [BL WH Bl
ogcss
=
@ BR| FUSE
250y T500ma |ac
@ UsC wopeLs oncY
[
° (5]
-
POWER POWER
o REVERB UNIT o TRANSFORMER TRANSFORMER
GAB26900 (J) GAB27100
3R827000 L)
outpuT INPUT
o ® ] °) e °
POWER SW
PG C.BOARD (1/6) b fo POWE
ABOBE9O (J), NABOS700(U,C) ,NABOBTIO(R) to PG C.BOARD
FS C.BOARD
(2/

ity

B

sl
B W
n Ul
< = =
REVERB EQUALIZER A~CHANNEL—-8
a8 INPUT VOLUME TREBLE WIDDLE  BASS  GAIN  MASTER TREBLE MIODLE  BASS PEQLEVEL| O  [FREQENCY EQLEVE REVERS ouTRUT - PHONES~ POWER

- e
sl2g s & &

3__ Eizsg It
to SWA/B L - =
sgy &g 58y 57

A A/B B LPF PEQ HPF

i




PG1

::' Part No. Description 8 & = Remarks (MmN Markets
KB10007]10] Fuse TS00mA260V & 2 — X G
LB 0030:80 | Connector 2 % 7 5 —

L52012:30] Jack 5« v 7
LB 120/1530] Fuse Holder Pin Ca-XFAF—E>
1812011540 Jack > v v 7
LB 30110:80] ~ O
LB 15002150 Connestor Pin 5Pin 25pich |~ - 2 E v
L8 16024160 - 5Pin " W
LB 16024190 B 8Pin "~ u
NA 80188140 FS C. Board #87290 F s v - F
HU 57156120 | Metal Film Resistor 6200 & R AW E
HU 57561160 ” 16k 0
HU ” 2a G
iC 123.20110] Transistor 28C2B30EFR [+ 5 v » %
L50030:80] Connector 3 x5 5 -

# New Parts (#2888)




B SCHEMATIC DIAGRAM

PG1

FUSE FI-F3
JAPANESE 0.5A 250V
[US & CANADIAN  500mA 250V
GENERAL T500mA 250V

JAPANESE MODEL
POWER
swoogy

i 1 ooomacizsy

—

(300550
-

L

oonaciasy
o

US & CANADIAN MODELS
swo

e
5l
E3
Kl
T
.

Co _

CHANNEL A/B—w—A

EQUALIZER—w=ON

REVERB———=—0ON

* All voltages measured with a 10MQ/V DC electric voltmeter, under no-signal condition.

GENERAL MODEL

220200

&






